
TT

,;Ÿ

g

y

R
I-

y?

JCJARCHITECTURE

l_

O
F

U

r

« nU
y

g i

y

$
R

L

J

;v

O Oy

O O
y

y- O O

O O

O O

O O

O O

O O

O O

O O

O O

O O

O

K?

O O

O O

y yO O

O O

y O O

y. o O

O O

O O

O O

O O

O O

O O

iS
O O

<

y
g

S
yj

i

s
g:

&

A
$

g

~I

_I

g

R 
i-.

R
R

i
P'
J

&

À

y
•s

•y

■Ï

g

..

g
y
S

■ j

?
y

7?

;À

y

y

ï~

g 

â 
t y

'è

:. I 
P

y

K

A

I
-ï<?
&

n
•7 I 
/.•

£ 
g

g 
■■-■■■.
y: 
g 
y

A
•..*.

■R

A

R:

A
S

S

•;-4 
A 
' -: :■ ■

'. '■

S?

<:<•

I
<?

g

y

y
g
■-. .•■
R

R

I

A
A 
■«: 
y. 
y/:

A 
;S

S

■a':.

""

S....... 
ffii

yy

-••_<.•

:>■;

r.'À 
| 

y:. "
l1^

s 

■

r?

I

A
R
I
P

■­

y

g
- I
y

T
I
I
I
I
I
I ____
I
I
1 --

ly

y-:

I____ I

J______ I

I I

i r

i r

_____________________ A<

I
y

T r

i

j______ I

T r 
I I 
I I 
I I 
I I 
I I 
I I
I I 
I I 
j______ I

i r
I —•

ïfl " "l'[---jï I.
J---------- [■

I
I
I
I

I
I
I
I
I
I

W4

T r 
I I 
I I 
I I 
I I 
I I 
I I 
I I 
I I 
I I 
I I 
I I 
I I 
i ।

2'
-1

1"

[SS-01] ON 3/4" FIRE TREATED MDF

[FRP-2] ON 1" MDF

[SS-01] COUNTERTOP

3/4" MDF

FOOD SERVICE EQUIPMENT
(SEE FOOD SERVICE DRAWINGS)

2X BLOCKING BEYOND, FULL HEIGHT OF 
WALL AT SUPPORT BRACKET LOCATIONS

[SS-01] APPLIED TO 3/4" MDF SUB-
BASE SECURED TO PLYWOOD BELOW

2'-0"

3 
1/

4"

LIGHT STRIP (SEE ELECTRICAL)

4"

[SS-01] BASE MUDSET TO 
SUBSTRATE

LIGHT STRIP (SEE ELECTRICAL)
COORDINATE WIRING LOCATION 
WITH BASE SUPPORT

PREMANUFACTURED DIE WALL

5x3x1/4" METAL ANGLE  
SECURED TO WALL ASSEMBLY 
FULL LENGTH OF FOOT RAIL 

SUPPORT BRACKET, WHERE OCCURS
SECURED TO 2X BLOCKING

CONTINUOUS SHIM

SEAL JOINT

1/2" FT PLYWOOD SECURED 
TO METAL ANGLE BELOW

2X BLOCKING AT METAL ANGLE SUPPORT, 
FULL LENGTH OF FOOT REST

METAL "L" PLATE (BEYOND) SECURES TO 
HORIZONTAL AND VERTICAL BLOCKING

2X WOOD SPACER BLOCK (BEYOND), 
INSTALL BLOCKS IN INTERVALS OF 
APPROXIMATELY 3'-0" ALONG BASE OF 
WALL. 

6"

[SS-01] ON 3/4" MDF

[FRP-2] ON 1" MDF

[SS-01] COUNTERTOP ON 3/4" MDF 

FOOD SERVICE EQUIPMENT
(SEE FOOD SERVICE DRAWINGS)

8"

1'-0"1'-6"

BASE

3 
1/

4"

PREMANUFACTURERED DIE WALL

LIGHT FIXTURE (SEE 
ELECTRICAL DRAWINGS)

PAINT UNDERSIDE OF BAR BLACK

SUPPORT BRACKET SECURED TO 
2X BLOCKING

[SS-01] END WALL (BEYOND)

LINE OF SUPPORT PANEL 
(BEYOND)

1"

3' - 0"

1"

1"

1' - 8 1/4"

1"

1"

2' 
- 2

 1
/4

"

1"

1"

3' 
- 0

"

1"

6 
1/

2"

1/
4"

3'
 -

 5
 7

/8
"

1"
3'

 -
 6

 1
/4

"
1"

3'
 -

 6
 1

/4
"

1/
4"

1/
2"

45.0°

45.0°

45.0°

CL
WALL FACE

1' - 1 3/8"

WP TILE

1'
 -

 3
 3

/8
"

WP TILE

2' 
- 1

 5
/8

"

3' - 5"

SIGNAGE AREA
SEE ELEVATION

PAINT 1/2" GAP AT CEILING 
FLAT BLACK

EQEQ,

45
.0

°

45
.0

°

90.0°

90.0°

[TS-1], TYP.

PAINT 1/2" GAP 
FLAT BLACK

5

A-8

C
E

IL
IN

G
 H

E
IG

H
T

 (
V

IF
)

11
' -

 4
"

7

A-9

EXISTING GWB 
CEILING

SOLID MAPLE 
FRAME FINISH ALL 
SIDES, TYP.

CONTINUOUS 2X BLOCKING AT 
WOOD FRAME ATTACHMENT POINTS

4" MAX.

[LF-102] LIGHT 
FIXTURE

1'
 -

 0
"

4"
3"

6'
 -

 1
 1

/2
"

9 
1/

2"

SOLID MAPLE 
FRAME FINISH ALL 
SIDES, TYP.

[WD-5] SOLID 
WOOD PANEL, 
TYP.

[WD-5] SOLID WOOD TRIM

[P-1] PAINTED GWB SOFFIT

6"

[WD-5] SOLID WOOD 
BASE

3 5/8" METAL STUD

[T-2] ON 1/4" CEMENT BOARD 
ON 3/4" FIRE TREATED MDF

1' - 0"

SALVAGED DECORATIVE 
PARTITION

EXTRUDED ALUMINUM FILLER 
PANEL TO MATCH ADJACENT 
FINISH.

BACKER ROD AND SEALANT

APPLIED DECORATIVE TRIM

5'
 -

 0
"

PIN MOUNTED SIGNAGE; 
COORDINATE EXACT 
LOCATION WITH OWNER.

EXISTING SOFFIT

[T-2] ON 1/4" BACKER BOARD 
ON 3/4" FIRE TREATED MDF

4' - 0"

B.O. SOFFIT

14'-2"

B.O. SOFFIT

10'-6"

[LF-107] SEE 
ELECTRICAL DRAWINGS

ATTACH SOFFIT FRAMING TO 
EXISTING FRAMING EXTENDING 
TO DECK ABOVE.  PROVIDE 
DIAGONAL BRACE 48" O.C. 

1' - 0"

1'
 -

 6
"

[T-2] ON 1/4" CEMENT 
BOARD ON 3/4" FIRE 
TREATED MDF

3 5/8" METAL STUD

LINE OF EXISTING WALL

[T-2] ON 1/4" BACKER BOARD ON 
3/4" MDF

3 5/8" METAL STUD

LINEAR RECESSED WALL WASH 
FIXTURE [LF-107]; SEE ELECTRICAL 
DRAWINGS.

ATTACH SOFFIT FRAMING TO 
EXISTING FRAMING EXTENDING TO 
DECK ABOVE.  PROVIDE DIAGONAL 
BRACE 48" O.C. 

6"
6"

2'
 -

 6
 3

/4
"

6"
6"

2'
 -

 5
"

6"

[WD-5] 3/4" SOLID WOOD 
REMOVEABLE BASE; PROVIDE 
ACCESS TO EXISTING FLOOR 
SINK. SEE PLUMBING DRAWINGS 
FOR MORE INFORMATION.

[WD-5] 3/4" SOLID WOOD 
ADJUSTABLE SHELF WITH LOCKING 
SHELF PINS, TYPICAL.

DOOR PULL

[WD-5] 3/4" SOLID WOOD 
DOOR PANEL

1X3 BLOCKING AS REQUIRED

1/4" TEMPERED CLEAR 
GLAZING 

[WD-5] 3/4" SOLID WOOD 
PANEL

[WD-5] 3/4" SOLID WOOD TRIM

[P-1] 5/8" GWB SOFFIT

3 5/8" METAL STUD SECURELY 
FASTENED TO STRUCTURE 
ABOVE; PROVIDE DIAGONAL 
BRACING @ 48" O.C.

7'
 -

 6
"

1'
 -

 0
"

1' - 9"

1' - 9"

1'
 -

 0
"

8 
1/

8"
3'

 -
 4

"
3'

 -
 0

"
6"

[SS-01] COUNTERTOP ON 3/4" MDF

[WD-5] 3/4" SOLID WOOD 
REMOVEABLE BASE; PROVIDE 
ACCESS TO EXISTING FLOOR 
SINK. SEE PLUMBING DRAWINGS 
FOR MORE INFORMATION.

SEE FOOD SERVICE DRAWINGS 
FOR EQUIPMENT INFORMATION

SEE FOOD SERVICE DRAWINGS 
FOR EQUIPMENT INFORMATION

1X3 BLOCKING AS REQUIRED

[WD-5] 3/4" SOLID WOOD BACK 
PANEL

[WD-5] SOLID WOOD TRIM

[P-1] 5/8" GWB SOFFIT

3 5/8" METAL STUD SECURELY 
FASTENED TO STRUCTURE 
ABOVE; PROVIDE DIAGONAL 
BRACING @ 48" O.C.

8'
 -

 6
"

[WD-5] WINE GLASS RACK

CLARK DIETRICH PONY WALL 
LITE O.A.E.

3/4" MDF

[SS-01]

3'
 -

 6
"

5 5/8"

[T-2] ON 1/4" BACKER 
BOARD ON 3/4" MDF

ATTACH SOFFIT FRAMING TO 
EXISTING FRAMING 
EXTENDING TO DECK ABOVE.  
PROVIDE DIAGONAL BRACE 
48" O.C. 

EXISTING SOFFIT

1'
 -

 0
"

1' - 6"

2021 JCJ Architecturec

SCALE

DRAWN

ISSUE

JOB

CONSULTANT:

120 HUYSHOPE AVENUE
SUITE 400
HARTFORD, CT  06106
860.247.9226

Reference Cover 
Sheet for Consultant 
Directory 

REVISIONS

D
R

A
W

IN
G

 P
R

IN
T

E
D

 F
U

LL
 S

IZ
E

 (
10

0%
) 

=
 3

0"
x4

2"
; D

R
A

W
IN

G
 P

R
IN

T
E

D
 H

A
LF

 S
IZ

E
 (

50
%

) 
W

IL
L 

F
IT

 O
N

 A
 S

H
E

E
T

 1
8"

x2
4"

 W
IT

H
 1

.5
" 

O
F

 E
X

T
R

A
 S

P
A

C
E

 O
N

 A
LL

 F
O

U
R

 S
ID

E
S

; D
R

A
W

IN
G

 P
R

IN
T

E
D

 N
E

A
R

LY
 T

H
IR

D
 S

IZ
E

 (
37

.5
%

) 
=

 1
1.

25
"x

15
.7

5"
 W

IL
L 

F
IT

 T
IG

H
T

LY
 O

N
 1

1"
x1

7"
. I

N
D

IV
ID

U
A

L 
1/

2"
, 1

/4
",

 1
/8

",
 1

/1
6"

 A
N

D
 1

/3
2"

 V
IE

W
 S

C
A

LE
S

 W
IL

L 
T

R
A

N
S

LA
T

E
 B

Y
 M

U
LT

IP
LY

IN
G

 T
H

E
 D

E
N

O
M

IN
A

T
O

R
 B

Y
 8

 A
N

D
 M

A
K

IN
G

 T
H

E
 N

U
M

E
R

A
T

O
R

 3
. F

O
R

 E
X

A
M

P
LE

 1
/8

"=
1'

-0
" 

A
T

 (
37

.5
%

) 
W

IL
L 

B
E

 3
/6

4"
=

1'
-0

".
 F

O
R

 S
C

A
LE

S
 A

T
 3

/4
",

 3
/8

",
 3

/1
6"

 A
N

D
 3

/3
2"

 T
H

E
 T

R
A

N
S

LA
T

IO
N

 IS
 C

LO
S

E
 E

N
O

U
G

H
 T

O
 U

S
E

 T
H

E
D

E
N

O
M

IN
A

T
O

R
 E

Q
U

IV
E

LA
N

T
 A

N
D

 C
H

A
N

G
E

 T
H

E
 N

U
M

E
R

A
T

O
R

 T
O

 1
. E

X
A

M
P

LE
 3

/4
"=

1'
-0

" 
A

T
 (

37
.5

%
) 

W
IL

L 
B

E
 N

E
A

R
E

S
T

 T
O

 1
/4

"=
1'

-0
".

7
/6

/2
0

2
2
 9

:2
3

:5
6

 P
M

As indicated

CROCKFORDS -

RESORTS WORLD

CATSKILLS

888 Resorts World Dr

Monticello, NY 12701

INTERIOR DETAILS

A-9

BIDDING &
CONSTRUCTION

07/06/2022

H18064.19

LKB

07/06/2022

DL [ML]PIC [JMM]

DTL [LKB]PM [DT]

r1
9
3
2
v
0
0
1
6

1 1/2" = 1'-0"1
DETAIL AT BAR

1 1/2" = 1'-0"2
DETAIL AT ADA BAR

3/4" = 1'-0"3
WALL TILE PATTERN

1 1/2" = 1'-0"5
WINE BAR - MILLWORK - RECESSED PANEL

1 1/2" = 1'-0"9
DETAIL AT ENTRY PORTAL

1 1/2" = 1'-0"10
ENTRY PORTAL SOFFIT DETAIL

1 1/2" = 1'-0"11
ELEVATOR PORTAL DETAIL

1 1/2" = 1'-0"7
ELEVATOR PORTAL SOFFIT DETAIL

1 1/2" = 1'-0"4
WINE BAR - MILLWORK - GLASS STORAGE

1 1/2" = 1'-0"6
WINE BAR - MILLWORK DETAIL

1 1/2" = 1'-0"12
DETAIL AT BAR END PANEL

1 1/2" = 1'-0"8
ELEVATOR PORTAL SOFFIT DETAIL


